=[
O:OO:OOI

~ I FT-Z=

%

B IER 2019% 6A2H
AA—EEE
EF4A F—L% il yi ] S B &AL
@ Py = — LR SEftime B ETIME | Bt
1=1 INEF E1B 1REA REYRI7282557 | | |00:29:45 0:29:45 7
2 mA F— 1A mEUN(728957 | 9 0:59:34 0:29:49 0:59:34| 12
1-3 R Ei& 1//EEA miBYr51720557 | 3 [1:26:52 1:26:52 1:26:52| 20 4
= EE & 2|&EB REYRI7282557 | | |00:28:47 0:28:47 5
2-2 ik R 2| EEB mEUN728957 | 9 |0:56:21 0:27:34 0:45:36| 11
2-3 Ry —=2 2;EEB m@17202957 | 3 [1:13:10 0:16:49 1:13:10] 19 3
3-1 Fl IEE 3| F—LRVYIA  |F—LARUYY 1 [00:26:49 0:26:49 3
3-2 B E 3| F—LRVYIA  |[F—LARUYY 2 [1:01:33 0:34:44 1:01:33| 14
3-3 BEE &= 3| F—LRYvHA | F—LkUvs 3 [1:33:00 0:31:27 1:33:00] 22 6
4-1 & & 4| F—LRIyIB  |F—LkUvy 1 00:29:18 0:29:18 6
4-2 Ei5 MR 4| F—LRIyIB  |F—LkUvy 2 [1:02:46 0:33:28 1:02:46| 15
4-3 BE BEEE) 4|F—LAYvoB(2% BE) | F— Lok vy 3 |1:33:21 0:30:35 1:33:21] 23 7
5-1 SRS 5f8BCTC F—A55. 3 BRCTC 1 ]00:19:51 0:19:51 1
5-2 = 4 5f8BCTC F—L56. 3|18HCTC 2 |0:46:38 0:26:47 0:46:38] 9
5-3 =8 Jtif 5#8BCTC F—L55. 3|{8&CTC 3 [1:16:49 0:30:11 1:16:49| 18 2
6-1 EBEE OBSIT 6| AENSATROVYST (FEFS7REVY57( 1 100:30:41 0:30:41 8
6-2 R AS 6 FEFSATROVYTT FES(7REV55T) 2 11:09:36 0:38:55 1:09:36| 16
6-3 ko)L ER 6 ABENSATROVYST [KBS(72E2557] 3 [1:39:29 0:29:53 1:39:29| 24 8
7-1 =l &= T B ATILTL XA BILILIL X {1 (00:24:08 0:24-08 2
7-2 ]| Xk T ELYATLITLU XA BLHILILEZ | 2 10:49:26 0:25:18 0:49:26] 10
7-3 T HAREE) 7 [musaonov zazes® | BILYAINILUZX] 3 [1:13:14 0:23:48 1:13:14] 17 1
8—1 ik -E 8 BLH AL TLUXB | BILHILTL X 1 (00:27:40 0:27:40 4
8-2 s X— 8| BRLYAZ)LTL U XB BLEILILYX | 2 11:00:01 0:32:21 1:00:01| 13
8-3 HE RE 8 BRI 1)L TIL U XB | BRLY(ILILUX | 3 [1:27:36 0:27:35 1:27:36] 21 o)




